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Wednesday, March 22 Assume GRA and 25 throughout. Ther
-

Recall:((a,x) = -1+$5b2=a(mda)3 and
this vector has a biting bogonthmrc

distribution, which is the same is

E(x;a,x) =4,9,a)
- n(x)

the distribution of the nonstom variablevx/10g x
in

--cleic Xl Eir toll 5 +2R.*X(more) VOIR

XX (+inx)=0

assuming GRH. where Zs one indepently uniformly
Remork! we can change al) to litx) distributed on the unit circle.
-

which changes class to chial1, and Remarks when ist, we can write
A reintroduces No into the sum-

Let's now look atthe vector in IR*: Tr
= xla) ZyZir. However,

we can't replace of by 41, ..., 11 when

(Exj,dil, ... Exsg,or] raI since the Yaj) have different
=5-ioh. orguments.

Let Main as anar
where

B =- [ca,,),..,da,or) and be this limitity distribution.

=(la), ..., X(ar)
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The Forier transform ofMaja s Sait"S.-S drains --u
Main(E)::Es,,agts -I-- Paills-,Ura,

I where we've definedππ*t8).
**No VsO

We want to understand the density Pailus-no-Saigle ...Grant.
Sai Sajda.or Define Glus-ra) =1(4,x0, .gurio).

biny(ix;is ...slis,or Then by Plonchelds

-(...) dMaja(); Sai-SprQ(i) danfil
X, 3 -.Xr

using the change of
variables n,x,*zu -Sirl)ail) dE

UnX2X5, - Ures*Xra-Xra Ur=Xra

and defining the corresponding measure

by Major,Xr)- VapalX,* -;Pre*,
we have
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Sai Spr LE) Paioht) dE · leben 3: write for Paine,so

Formulos:

· Pailtic-stra)="lasa-salt;
Gaianonion

- π)(was-xa)ti) /+
l))

XX, V30 "PVSPlus)d
· a(E) =( -i) · When n=4:unte for Pasa,--,n
·When r=1: I

principal volue SaidssonI
Saison* **PVS sac,(n) *

"PV(pu,d+y0,0) +0,,a))
I

- ,-dogPVSelolus,plus)law)

Reference:"Bioses...", Fenerwerger -PV S law)
d

- Mo


